B EHEE (D
=
I & BR%E B | ORE | OXE | OFXE | OFE | OFE | OXE | OXE | ©XE | OXE | &
tTIT%
4 €E 11 T
AR T " 55 55 0.0 55 55 55 55 55 55 44.0
4 € yi T 2
i m 30 3.0 0.0 3.0 30 3.0 30 3.0 30 24.0
TAI7MAER m3
EfRT 0.12 0.12 0.00 0.12 0.12 0.12 0.12 0.12 0.12 1.0
FAI7MAER ¢
nRgE 0.27 0.27 0.00 0.27 0.27 0.27 0.27 0.27 0.27 2.2
PREI T (HH) m3
451 4.46 0.89 5.08 456 410 3.82 423 419 35.8
BRI m3
(R EHE) 118 118 0.24 118 118 118 118 118 118 9.68
ERT m3
(BERR) 3.10 3.05 0.00 3.67 3.15 269 2.41 282 278| 2367
BRI (EL 3
RIRLE) m 0.65 0.65
R ERT m3
451 4.46 0.24 5.08 456 4.10 3.82 423 419] 3519
Wi E T
IFAN =k e
=AmE Tk A 1 1 1 1 1 1 1 1 1 9.0
FTHRETL &R
1 1 1 1 1 1 1 1 1 9.0
HET-8 &l
% &R 1 1 1 1 1 1 1 1 1 9.0
ShyE &P
&R 0 0 0 0 0 0 0 0 0.0
R E
HEx T
BREE o
XERMT MR 1 1 0 1 1 1 1 1 1 8.0
BRHLE m
(VU ¢ 100) 3.0 3.0 0 3.0 3.0 3.0 3.0 3.0 3.0 24.0
B —h
i " 30 3.0 0 3.0 30 3.0 30 3.0 30 24.0
BERBART—7 m
30 3.0 0 3.0 30 3.0 30 3.0 30 24.0
AEIRT
BT m2
2.20 2.20 0.00 2.20 2.20 2.20 2.20 2.20 220]  17.60
*RBI(AS) m2
3.67 3.67 0.00 3.67 3.67 3.67 3.67 3.67 367] 2936
TET
REIRL (REH) »
(FRE-#E) 7.03 6.85 0.00 8.94 7.20 5.66 472 457 442] 4939
ARZRT (BASFIER) -
(FRE-#E) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
|t T
(EEERAtD (R @FEES A
2 2 0 2 2 2 2 2 2 16.0




HENHEANMER(@FESE: ORXE)

I iE BRI H " B =
TT%
LRI T 2.00 X 200 1.50 5.50 m 55
SHIEIREURT 1.50 x 200 3.00 m 3.00
TAT7IVMER
ET 1.50 X 200 0.04 0.12 m3 0.12
TA77IhER
niEE 0.12 X 230 0.27 t 0.27
{RHEI T (&) 0.90 X 257 0.90 + m3 451
0.90 x  1.06 2.55 451
HRET
(BbELTE) 0.90 X 050 0.90 + m3 1.18
0.90 x  0.30 0011 )x  3.00 1.18
HRET
(BARE) 0.90 x 197 0.90 + m3 3.10
0.90 X  0.66 2.55 3.11
A ERT 451 451 m3 451
MERET
IFAON =} _ _
= HAE RN H= 100 m EIRT ‘
FIHRETL 1 1 &1z 1
KET-8 1 1 & A 1
SHTE 0 & 0
BHE
i
BHEE _ e =
XERAT H= 100 m Elzi 1
BmELE _
(VU ¢ 100) L= 300 m m 3.0
HEE—k 3.00 3.00 m 30
BEREBART— 3.00 3.00 m 3.0
AEIRT
BREET 0.90 X 245 2.21 m2 2.20
REI(AS) 1.50 X 245 (t= 4cm) 3.68 m2 3.67
TEBI
RERT (RELR) .
(2 W) 261 X 0.90 3 i} m 7.03
AERI (BATREIER) .
A gy X 0.90 3 m 0.00
ftsT
(EEREBZHL |AEFES e TR 2 A = A 2




HENEANMER (@FHEDF: OXE)

1.00

BYBLAEE; ERIVFR—ILABL= 7 m
Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁﬁﬁ)
1 —
=E N0.04 i —
BHE \, 01 ;
; 0.90
1.97 (RC-40)
2.61 : | I
2.57 i 0.10
() ! IFAoN -t
0.50 @ 200
G
L HRMHE 578.93 m
0.90 LTREE 576.291 m
FHRMHE 579.3 m
TREE 576.059 m
MHRS BB 8 30.2 m
& BR A ED 12 %
EHAED 7.7 %o
BT E (Eky) 7.0 m
Hyﬁl-%*ﬁ&ﬁﬁ HhigS 578.844 m
AEE 576.237 m
AH 261 m
i 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE
0011 m



HENERNER (FESHL: QXE)

I iE ERE 5 = B =
TT%
SR UIBT T 2.00 X 200 1.50 550 m 55
SHEEIREUET 1.50 x 200 3.00 m 3.00
TAT7IMER
ET 1.50 X 200 0.04 0.12 m3 0.12
TAITIVNER
nIRE 0.12 x 230 0.27 t 0.27
HEHI T () 0.90 X 250 0.90 + m3 446
0.90 X 1.06 2.55 4.46
HBRT
(BbLFE) 0.90 X 050 0.90 + m3 1.18
0.90 X 030 0.011 )yx  3.00 1.18
HBRET
(BART) 0.90 X 190 0.90 + m3 3.05
0.90 X  0.66 2.55 3.05
BEAERT 446 4.46 m3 446
WERE T
7}[‘?’{‘/’\.‘_[‘ — Sk =
=AAA st H= 100 m i 1
FIHRETL 1 1 &0z 1
$HET-8 1 1 [ 1
IHhyE 1 1 &0z 1
&
il
BmHE _ _
EEIAT H= 100 m &l 1
BRHLE _
(VU 6 100) L= 300 m m 3.0
R —k 3.00 3.00 m 3.0
BEBRT—7 3.00 3.00 m 3.0
AEIBT
BRAET 0.90 X 245 2.21 m2 2.20
REI(AS) 1.50 X 245 (t= 4cm) 3.68 m2 3.67
T8I
ARERI (REER) .
(B ) 2.54 X 0.90 3 [i1] m 6.85
ARERI (BATREIER) .
(FRE-HE) x 090 3 1] m 0.00
e
(EEERERIL) |3@IEER e T 2 A = A 2




HEFERANENFESEFT: QXE)

WMYBLEE; ERIBR—ILMSL= 22 m

1.00

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁﬁﬁ)
— —
=& /No.o4 ] 1
BHE \, 01 ;
' 0.90
1.90 (RC-40)
254 : - A
2.50 i 0.10
() ! IFAoN -t
0.50 @ 200
B
L HRMHE 578.93 m
0.90 LTREE 576.291 m
FHRMHE 579.3 m
TREE 576.059 m
MHRS BB 8 30.2 m
& BR A ED 12 %
EHAED 7.7 %o
BOTE (rmyy)| 220 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 578.660 m
AEE 576.122 m
AH 2.54 m
) 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



HENERNER (FESEHD:OXE)

I & FER%E H " B fip =
TIT%H
SHENRUIET T 0.00 X 200 0.00 = 0.00 m 0.0
SRR T 0.00 X 0.00 = 0.00 m 0.00
%{QTJJ:W% 0.00 X 000 0.04 = 0.00 m3 0.00
E;;%Fﬁ 000 x 230 = 000 " 0.00
PRI T (HEHE) 0.00 X 248 0.00 + m3 0.89
0.90 X 110 0.90 = 0.89
%fé:%) 090 X 000 0.90 + m3 0.24
090 x 090 0.300 = 0.24
%EEJ%ZFE ) 090 x 000 0.90 + m3 0.00
090 x 080 0.00 = 0.00
EERT 0.24 = 0.24 m3 0.24
BiEEE T
FIHRET 1 = 1 B 1
hET-8 1 = 1 ERT 1
ShSE = 0 iz 0
BHE
i
F’;H%% o H= 100 m &R 0
f’\l/% ;?00) L= 000 m m 0.0
g —k 0.00 = 0.00 m 0.0
BERBRRT—T 0.00 = 0.00 m 0.0
AEIRT
REET 0.00 X 0.00 = 0.00 m2 0.00
KEI(AS) 0.00 X 000 (t=  4cm) = 0.00 m2 0.00
T8T
fféﬁg g%%ﬂ) 252 x 000 3 & m 0.00
R SR X 000 3 m i 000
BT
(aEmmain [RERES I 0 A = A 0




HEFERANENFESEFT: OXE)

1.00

BYHLAEE; ERIVFR—IABL= 25 m
Htwrm
0.00
0.00 \ 1.00
'A,\Tﬂ(ﬁiﬁ)
1 Py
= /No.o4 ] 1
BHE \, 01 ;
; 0.90
2.08 (RC-40)
2.52 : |
248 i 0.10
() ! IFAoN -t
0.30 ®0
G5
EHEMHE 578.93 m
0.00 LTREE 576.291 m
THRMHE 579.3 m
TREE 576.059 m
MHPS B 30.2 m
& BR A ED 12 %
EHAED 7.7 %o
— A . B @ (Emey)| 250 m
’.&-:H—imsé*@l’fﬁﬁ g s 578.624 m
AEE 576.099 m
AH 2,52 m
0.90
(RC-40)
(F&EL)
0.8
1.10
BRIt E | 0.10 ()
¢ 100 = | 010  [0.30
- 0.10

O

0.90




HENERNER (FESHL: @XE)

I ERI%E H " BifiL =
TIT%H
SR T 2.00 X 200 1.50 = 5.50 m 5.5
SRR T 1.50 X 200 = 3.00 m 3.00
g};ﬁ*%& 150 X 200 0.04 = 0.12 m3 0.12
Egg‘%& 012 x 230 = 027 ¢ 0.27
BRI T (i) 0.90 x 327 0.90 + m3 5.08
0.90 X 1.06 255 = 5.08
%E%%) 090 x 050 0.90 + m3 1.18
090 x 030 0011 )x 300 = 1.18
i(EEEEJ%%E) 090 x 267 0.90 + m3 3.67
090 x 066 2.55 = 3.68
EERT 508 = 5.08 m3 508
BiEEE T
FIHRET 1 = 1 &7 1
HET-8 i = 1 G 1
ShSE = 0 &7 0
&
i
F’;H%% . H= 100 m Sk 1
f’\l/% ;:éqoo) L= 300 m m 3.0
HEES —h 3.00 = 3.00 m 3.0
BERBRRT—T 3.00 = 3.00 m 3.0
AEIRT
AT 0.90 X 245 = 2.21 m2 2.20
KEI(AS) 150 X 245 (t= 4cm) = 3.68 m2 3.67
T8T
zfg&f&g%g%%) 331 x 090 3 & m 8.94
R SR X 090 3 @& i 0.00
T
(aEmmain [RERES MmIE 2 A = A 2




HEFERANENFESEFT: OXE)

WMYBHLEE; ERIBR—ILMSL= 19 m

1.00

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁiﬁ)
— —
=B /o.o4 i 1
BHE \, 01 ;
' 0.90
2.67 (RC-40)
3.31 : - A
3.27 i 0.10
() ! IFAoN -t
0.50 @ 200
B
L HRMHE 579.30 m
0.90 LTREE 576.039 m
FHRMHE 579.41 m
TREE 575.826 m
MHRS BB 8 38.6 m
& BR A ED 0.3 %
EHAED 55 %o
BTE by 190 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 579.246 m
AEE 575.934 m
AH 331 m
) 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



HENERNER (FESH L OXE)

I & FER%E B " B fip =
TIT%H
SR T 2.00 X 200 150 5.50 m 5.5
SRR T 1.50 X 200 3.00 m 3.00
g@?&"‘ﬁ 150 X 200 0.04 0.12 m3 0.12
E;;%Fﬁ 012 x 230 0.27 " 0.27
BRI T (i) 0.90 X 263 0.90 + m3 456
0.90 X 106 255 4.56
%E%@ 090 X 050 0.90 + m3 118
090 X 030 0011 ) x 3.00 1.18
%EEJ%}E) 090 x 203 0.90 + m3 3.15
090 x 066 2.55 3.16
EERT 456 456 m3 456
BiEEE T
FIHRET 1 1 Bl 1
$RET-8 1 1 ERT 1
ShSE 0 iz 0
&
i
F’;H%% o H= 100 m Eli 1
f’\l/% ;?00) L= 300 m m 30
e —bk 3.00 3.00 m 30
BERBRRT—T 3.00 3.00 m 30
AEIRT
AT 0.90 X 245 2.21 m2 2.20
KEI(AS) 150 X 245 (t= 4cm) 3.68 m2 3.67
T8T
zfgg&ggg%&r&) 267 X 090 3 & m 7.20
R SR X 090 3 & i 000
T
(EEmEAND |ZRBEEE WIE 2 A = A 2




HEFERANENFESFET: OXE)

WYHLEE; ERIBR—ILMSL= 10 m

1.00

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁi’eﬁ)
1 —1
=& /No.o4 ] 1
BE ) 01 ;
' 0.90
2.03 (RC-40)
2.67 : I
2.63 i 0.10
() ! IFAoN -t
0.50 @ 200
B
L HRMHE 579.03 m
0.90 LTREE 575.755 m
THRMHE 577.94 m
TREE 575.664 m
MHFdl BB Bt 16.5 m
& BR A ED 6.6 %
EHAED 55 %o
BHUE (Lmsy)| 100 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 578.369 m
AEE 575.700 m
AH 2.67 m
) 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 T EMEE

2

0011 m



HENERNER (FESED:©XE)

I iE ERE 5 = B =
TT%
SR UIBT T 2.00 X 200 1.50 550 m 55
SHEEIREUET 1.50 X  2.00 3.00 m 3.00
TAT7IMER
ET 1.50 X 200 0.04 0.12 m3 0.12
TAITIVNER
nIRE 0.12 X 230 0.27 t 0.27
HEHI T () 0.90 X 206 0.90 + m3 410
0.90 X  1.06 2.55 410
HBRT
(BbLFE) 0.90 X 050 0.90 + m3 1.18
0.90 x 030 0.011 )yx  3.00 1.18
HBRET
(BART) 0.90 X 146 0.90 + m3 2.69
0.90 X  0.66 2.55 2.70
BEAERT 410 410 m3 410
WERE T
7}[‘?’{‘/’\.‘_[‘ — Sk =
=AAA st H= 100 m i 1
FIHRETL 1 1 &1z 1
$HET-8 1 1 [ 1
IHTE 0 &1z 0
&
il
B E _ _
EEIAT H= 100 m &1z 1
BRHLE _
(VU 6 100) L= 300 m m 3.0
R —k 3.00 3.00 m 3.0
BEBRT—7 3.00 3.00 m 3.0
AEIBT
BRAET 0.90 X 245 2.21 m2 2.20
REI(AS) 1.50 X 245 (t= 4cm) 3.68 m2 3.67
T8I
ARERI (REER) .
(RE-HE) 2.10 x 090 3 [i1] m 5.66
ARERI (BATREIER) .
(2% E) X 090 3 i1} m 0.00
e
(aEmmain [RERES MBI 2 A = A 2




HEFERANENFESEFT: ©OXE)

WYBLEE; ERIAR—ILMEL= 7 m

1.00

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁkﬁ)
— —
=B /o.o4 i 1
BHE \, 01 ;
' 0.90
1.46 (RC-40)
2.10 : - A
2.06 i 0.10
) | AFAN =+
0.50 @ 200
B
L HRMHE 577.94 m
0.90 LTREE 575.429 m
FHRMHE 576.78 m
TREE 575.33 m
MHFdl BB Bt 18.0 m
& BR A ED 6.4 %
EHAED 55 %o
BT E (Eky) 7.0 m
Hy1¢%*ﬁl’-kﬁﬁ g s 577.489 m
AEE 575.391 m
AH 2.10 m
) 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



HENERNER (FESED: OXE)

I & FER%E o= B fip =
TIT%H
SR T 2.00 X 200 1.50 5.50 m 5.5
SRR T 1.50 X 200 3.00 m 3.00
g@?&"‘ﬁ 150 X 200 0.04 0.12 m3 0.12
E;;%Fﬁ 012 x 230 0.27 " 0.27
BRI T (i) 0.90 x 1.7 0.90 + m3 3.82
0.90 X 106 255 3.82
%E%@ 090 X 050 0.90 + m3 118
090 X 030 0011 )x 3.00 1.18
%EEJ%}E) 090  x 1.11 0.90 + m3 2.41
090 x 066 2.55 2.41
EERT 3.82 3.82 m3 3.82
BiEEE T
FIHRET 1 1 B 1
$RET-8 1 1 ERT 1
ShSE 0 iz 0
&
i
F’;H%% o H= 100 m Eli 1
f’\l/% ;?00) L= 300 m m 30
e —bk 3.00 3.00 m 30
BERBRRT—T 3.00 3.00 m 30
AEIRT
PREET 0.90 X 245 2.21 m2 2.20
KEI(AS) 150 X 245 (t= 4cm) 3.68 m2 3.67
T8T
zfgg&ggg%&r&) 175 x 090 3 & m 472
R SR X 090 3 & i 000
T
(EEmEAND |ZRBEEE WIE 2 A = A 2




HEFERANENFESEFT: OXE)

WYBHLEE; ERIAR—ILMEL= 2 m

1.00

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁﬁﬁ)
— —
=& /No.o4 ] 1
BHE \, 01 ;
' 0.90
1.11 (RC-40)
1.75 : - A
1.71 i 0.10
) | AFAN =+
0.50 @ 200
B
L HRMHE 576.78 m
0.90 LTREE 574.995 m
FHRMHE 576.06 m
TREE 574.482 m
MHFdl BB Bt 11.4 m
& BR A ED 6.3 %
EHAED 45.0 %o
BB (fsy) 20 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 576.654 m
AEE 574.905 m
AH 1.75 m
) 1.50 !
| | [&m® 004
I8 0.10
0.66
(RC-40) 1.06 1.10
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



HENERNER (FESEHD:©OXE)

I iE FERIE it O BAfL =
TT%
SR UIBT T 2.00 X 200 1.50 5.50 m 55
SHEEIREUET 1.50 X 200 3.00 m 3.00
TAT7IMER
ET 150 X 200 0.04 0.12 m3 0.12
Zn
ZL{%%W 0.12 X 230 0.27 t 0.27
HEHI T () 0.90 X 165 0.90 + m3 423
0.90 X 126 2.55 423
1(;;5%3%%) 0.90 X 050 0.90 + m3 1.18
>4
0.90 X 030 0011 )x 3.00 1.18
%@%E ) 0.90 X 105 0.90 + m3 2.82
0.90 X 086 2.55 2.83
BEAERT 423 423 m3 423
WERE T
"E“‘?ﬁ'é:% " H= 120 m Gl 1
FTHRETL 1 1 & 1
BHET-8 1 1 & 1
IHYE 0 & 0
&
mET
fots
e Hz 120 m ki 1
s
?%/%;1%00) L= 300 m m 30
B —bk 3.00 3.00 m 3.0
BEBRT—7 3.00 3.00 m 3.0
AEIBT
BRAET 0.90 X 245 2.21 m?2 2.20
=ET (AS) 150 X 245 (t= 4cm) 3.68 m2 3.67
T8I
fets; 4
zfg&é&%% Bak) 169 x 090 3 @ m 457
T )
R SR X 090 3 @ i 0.00
e
(aEmmain [RERES IR 2 A = A 2




HEFERANERFESEFT: OXE)

WYBLEE; ERIAR—ILMEL= 5 m

1.20

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁﬁﬁ)
— —
=B /o.o4 i 1
BHE \, 01 ;
' 1.10
1.05 (RC-40)
1.69 : - A
1.65 i 0.10
() ! IFAoN -t
0.50 @ 200
B
L HRMHE 576.78 m
0.90 LREE 574.995 m
THRMHE 576.06 m
TREE 574.482 m
MHFdl BB Bt 11.4 m
& BR A ED 6.3 %
EHAED 45.0 %o
BT E (Eky) 5.0 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 576.464 m
AEE 574.770 m
AH 1.69 m
) 1.50 !
| | [&m® 004
I8 0.10
0.86
(RC-40) 1.26 1.30
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



HEHERANERFESE:OXE)
I & ERI%E H " Bify =
TIT%H
SR T 2.00 X 200 1.50 5.50 m 5.5
SRR T 1.50 X 200 3.00 m 3.00
g};&"ﬂ 150 X 200 0.04 0.12 m3 0.12
TL,{%%*‘%& 012 x 230 027 ¢ 0.27
BRI T (i) 0.90 X 160 0.90 + m3 4.19
0.90 X 126 2.55 419
i(%fg%%) 090 x 050 0.90 + m3 1.18
090 X 030 0011 ) x 3.00 1.18
%’%’%E ) 090 x 100 0.90 + m3 2.78
090 x 086 255 278
HLEMT 4.19 419 m3 4.19
BiEEE T
FIHRET 1 1 T 1
$RET-8 1 1 &R 1
ShyE 0 T 0
&
i
et He 120 el !
f)\l/% ;:éqoo) L= 300 m m 3.0
HEES —h 3.00 3.00 m 3.0
BERBRRT—T 3.00 3.00 m 3.0
AEIRT
PREET 0.90 X 245 2.21 m?2 2.20
KEI(AS) 150 X 245 (t= 4cm) 3.68 m2 3.67
T8T
ffé’i% (g%%ﬂ) 164  x 090 3 & m 4.42
gfé”%%ﬁﬁgm x 090 3 & i 0.00
T
(EEERERIL) |3@IEER IR 2 A = A 2




HEFERANENFESEFT: OXE)

WYHLEE; ERIBR—ILMEL= 8 m

1.20

Htwrm
3.00
2.00 \ 1.00
'A,\Tﬂ(ﬁiﬁ)
— —
=& /No.o4 ] 1
BHE \, 01 ;
' 1.10
1.00 (RC-40)
1.64 : - A
1.60 i 0.10
) | AFAN =+
0.50 @ 200
B
L HRMHE 576.78 m
0.90 LREE 574.995 m
FHRMHE 576.06 m
TREE 574.482 m
MHFdl BB Bt 11.4 m
& BR A ED 6.3 %
EHAED 45.0 %o
BB (fsy) 8.0 m
Hy 1T.I- @Eﬁ:*ﬁ H’ﬁﬁ g s 576.275 m
AEE 574.635 m
AH 1.64 m
) 1.50 !
| | [&m® 004
I8 0.10
0.86
(RC-40) 1.26 1.30
¢ 100_(0.116) 0.10
(5 0.10 0.30
0.10
0.90 BT EHEE

2

0011 m



